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QUESTION 1

Which of the following is NOT an advantage of Veeam ONE Monitor?
A. Built in phone home function for better security

B. Updates are signature based

C. Automatic problem mediation

D. Manual or scheduled log analytics

Correct Answer: A

QUESTION 2

A Backup Administrator needs to create a fully functional VM at a secondary location in an isolated network.The VM
should not require manual editing or modifications to the configuration. Which of the following jobs could the Backup
Administrator use? Choose two options.

A. SureBackup

B. VeeamZip

C. VM Copy

D. Replication

E. Backup

F. Configuration Backup

Correct Answer: AC

QUESTION 3

A scale-out backup repository is configured with data locality policy. How is an extent selected during an active full
backup? (Choose two.)

A. Always the same extent as the previous full backup

B. An extent determined based on load control settings and free space

C. A different extent from the previous chain to avoid single point of failure, if possible on free space
D. It tries the same location as the previous full if using a deduplication appliance

Correct Answer: AB
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QUESTION 4

Which of the following Veeam Backup and Replication jobs can use integration with secondary arrays as a data
source?

A. Backup

B. VM copy

C. Replication
D. Tape backup

Correct Answer: A

QUESTION 5

Which of these repository types CANNOT be an extent of a scale-out backup respository? Choose two options.
A. A deduplicating storage appliance

B. A Windows server

C. A Cloud Connect cloud repository

D. A shared folder (CIFS/SMB share)

E. Another scale out repository

F. A Linux Server

Correct Answer: CE
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